[bookmark: _Hlk58775287]Types of transmission lines
· ACSR transmission lines are used for 33kV,11kV and 6.6kVover headlines.
· ABC transmission lines are used for 0.4kVoverhead lines.
· XLPE transmission lines are used for 33kv,11kV,6.6kV for underground cables.

Inductance
Divides a Transmission Line Inductance into
1. Single-phase line:
	Solid
	

	Stranded
	

	Flux linkage
	


2.  Three phase line
A. Three phase line with equilateral spacing
	Solid
	

	Stranded
	

	Flux linkage
	



B. 3  with a symmetrical spacing
A symmetrical spacing even with balanced current the voltage drop due to line inductance will be unbalanced.
                                          a

                      Dab                            Dac

b
c

                            Dbc



Where the symmetrical inductance matrix of L is given by:
L=2*
C. Three phase transposed line
 where Deq=
D. Bundled conductor
The Bundling conductor reduce the line reactance which improves the line performance and increase the power capacity at the line and we reduce the voltage surface gradient which we reduce corona loss and surge impedance.
Spacer damper prevent clashing, provide damping and connect sub conductors in parallel.
Bundling are Reduce electric field strength on conductor surface and increase effective radius. (Reduce corona & inductance).
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                                         Subconductor
Four bundled                
                                                                          c‛
c‛

=1.091 
                                                              If the sub conductor is stranded   =GMR or solid =rc‛
c‛



3. Three phase double circuit lines.
The double circuit line constant two identical 3 circuit. The circuit will be operated with abc, cba in parallel. because at geometrical difference between conductor, voltage drop due to line inductance will be unbalanced. To achieve balance phase conductor must be transposed with it groups and with respect to parallel 3 line.
 2222!
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Transmission Lines Parameters
	Transmission line resistance
	Transmission line Inductor
	Transmission line capacitor


Overhead transmission system
1) Underground AC transmission would present a solution to some at environmental and aesthetic problem in overhead transmission lines, there are a technical and economic reason that make the use at underground ac transmission not preferable.
2) The overhead transmission system is mostly used at high voltage level mainly because it is much cheaper compared to underground system.
3) The selection of an economical voltage level for the T.L is based on the amount of power and the distance at transmission.
The economic voltage between lines in 3 is given by; 

where  
· V = line voltage in KV
· L = length at T.L in KM
· P = peak real power in KW
1) Standard transmission voltage is established
I. HV (30- 230) KV.
II. EHV (230-765) kV.
III. UHV (765- 1500) KV.
[image: ]                                                                                     Conducting material
Types of overhead line conductor: is based on 
                                                                                     Strength  
A. The material to be chosen for conduction at power should be such that it has the lowest resistance. This would be reducing the transmission losses.
Note: The weight the aluminum conduction having the same resistance as that at coppers roughly 60% less at copper.

B. The transmission of electric power conductors where usually copper but aluminum conductors have completely replaced copper for overhead lines because at the much lower cost and lighter weight at aluminum conductor compared with a copper conductor at the same resistance.
C. The most commonly used conductor for high voltage transmission lines are: 
· AAC - ALL-Aluminum Conductor
· AAAC – ALL- Aluminum- Alloy Conductor
· ACSR - Aluminum Conductor Steel- Reinforced
· ACAR – Aluminum Conductor- Alloy – Reinforced
· Expanded ACSR
a. Aluminum -alloy conductors have higher tensile strength than the ordinary aluminum
b. ACSR consists of a central core at higher- strength aluminum surrounded by larger of aluminum.
c. ACAR has a central core at higher- strength aluminum surrounded by layer at aluminum.
d. Expanded ACSR has a filler such as (paper fiber) separating the inner steel strands from the outer aluminum strands. The filler gives a larger diameter (and hence, lower corona) for a given conductivity and tensile strength. Expanded ACSR is used for some extra-high voltage lines.
Stranded Conductors
1. To increase the area stranded conductors are used. This increase the flexibility and the ability at the wire or cable to be bent.
2. Generally, the circular conductors at the same size are used for spiraling
3. Each layer at strands is spiraled in the opposite direction at its adjacent layer. This spiraling holds the strand in place 
Stranded conductor


	Easier Manufacturing
	handling much more flexible
better mech strength as well as well as





Stranded Conductors
Line Resistance: The dc resistance at a solid round conduct at a specific temperature the equation is: .
1- Temperature: Resistivity at conductor metals varies linearly
The equation is: 
The equation of the conductor resistance is: 
2- Spiraling: The stranded conductor is spiraled each strand is lower than the finished conductor. this result is slightly higher resistance than the value calculated.
Note: the spiraling increases the resistivity at the conductor extended about 2% for the first layer and 4% for a second layer and so on.
3- Frequency “skin effect”: the current distribution is not uniform over the conductor cross- sectional area and the current density is greatest at the surface at the conductor.
This case the AC resistance is greater than DC resistance. This behavior is known a skin effect.
At (50-60) the AC resistance is higher than DC resistance about 2%.
The ac resistance or effective resistance at a conductor is:

Note: A circular mill is a unit of area 











Transmission Line Capacitance
 Definition: Capacitance of the transmission line is the potential difference between the conductors.
 Divides a Transmission Line Capacitance into
4. Single-phase line
The difference between to Charges.
	
	

	
	
· 



Note the two charges has the same “q” due to symmetry and it generates volt between them

  
             q                                       q-
+




Capacitor from line to line is equal: 
· Capacitor from line to neutral is equal:  
5. Three phase line with equilateral spacing:
· Voltage from line to neutral is equal
· Voltage from line to line is equal:   
   .
6.  3  with a symetrical spacing:                          a

                Dab                                              Dac

b
c

                                          Dbc
    , where Deq= .
7. 3 Bundled Conductor with unequal spacing
c‛
c
b`
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c‛
c‛

                                                                       =1.091c‛
c‛

                                              If the sub conductor is stranded r=  , where d is outside diameter.
Line charging current
The current supplied to the transmission line capacitance is called charging current.
A.  Single phase circuit operating at line-to-line voltage


B. A completely transposed 3 line
The reactive power delivered by a phase
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Transmission Line Modeling
Transmission Lines can be Modeled according to their length as:
· Short Line Model (L ≤ 80km)
· Medium Line Model (80km < L < 250km)
· Long Line Model (L ≥ 250km)
Where L is the length of the Transmission-Line
Transmission lines can be modeled by two main systems:
· Lumped parameter system
· Distributed parameter system
We use lumped parameters which give good accuracy for short transmission lines and for medium length ones.
If an overhead line is classified as short one, then the shunt capacitance is so small that it can be omitted entirely with little loos of accuracy. Also, we need to consider only the series resistance (R) and the series inductance (L) for the total length of the line.
Exploring the three line models:
[1] Short Line Model
[image: Electrical Systems: Transmission Line Model: Short and Medium lines]
Figure 1: Short Transmission Line Model

   


Where R and L are the per-phase resistance and inductance per unit length, respectively, and l is the transmission line length. 
Important notes about short line model:
· Line length (L) < 80km.
· Generally, MV/LV Line.
· Capacitance can be neglected.
Line Electrical Analysis:
The phase voltage at the sending end is:
	
	

	(1)




Figure 2: Two-port representation of a Transmission Line
	
	

  →  
	(2)


Since we are dealing with a linear, passive and bilateral two-port network; the determinant of the transmission matrix is unity:
	 
	

	(3)


Also, equation (2) can be rewritten in terms of VR and IR as follows:
	
	
 
	(4)


Now According to equation (1), for the short transmission line model, the transmission parameters are:




      
Voltage regulation of the line may be defined as the percentage change in the voltage at the receiving end of the line (expressed as percentage of full load voltage) in going from no-load to full load.
	
	
 
	(5)


· Voltage regulation is a measure of line voltage drop. 
At no-load  for short line 


[2] Medium Line Model
Important notes about short line model:
· 80km < Line length (L) < 250km.
· As the length of the transmission line increases, the line charging current becomes appreciable and the shunt capacitance must be considered.
· For medium length transmission lines, half of the shunt capacitance may be considered to be lumped at each end of the line. This is referred to as the nominal π model.
Model equivalent circuit:
[image: Why do we take A=D in transmission line analysis? - Quora]
Figure 3: Medium Transmission Line π Model
Where:
Z = total series impedance of the transmission line.


Y = total shunt admittance of the transmission line.


Under normal condition, the shunt conductance per unit length which is represents the leakage current over the insulators and due to corona, is negligible and G is assumed to be zero, C is the line to neutral capacitance per km and l is the transmission line length.
Line Electrical Analysis:
To analyze this circuit (Model) we start by expressing the currents passing through the shunt capacitance and the series impedance in terms of the sending and receiving ends voltages and currents:
1- The current passing through the shunt capacitance at the sending end (IC1):
	
	
 
	(6)


2- The current passing through the shunt capacitance at the receiving end (IC2):
	
	
 
	(7)


3- The current passing through the series impedance (IL):
	
	
 
	(8)


The next step is to get the equations of the voltage (VS) and the current (IS) in terms of the voltage (VR) and the current (IR):
1- KVL around the entire loop:
	
	
 
	(9)


Now substitute equation (8) in equation (9) yields to


Rearrange this equation gives:
	
	
 
	(10)


2- KCL at the ending node:
	
	
 
	(11)


Now substitute equation (8) and equation (10) in equation (11) yields to


Rearrange this equation gives:
	
	
 
	(12)


Now we can express equation (10) and equation (12) in the matrix form:


  →  
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Since the π model is a symmetrical two-port network (A = D).
ABCD Matrix
	

	

	Short Line

	

	

	Compensate for reactive power

	

T-Circuit
	



	

	

π-Circuit
	



	



Cascaded Network


Cascaded Network





[3] Long Line Model

For the short and medium length Transmission lines applications, accurate models were obtained by assuming the line parameters to be lumped. For transmission lines’ length of 250km and longer, and for a more accurate solution the exact effect of the distributed parameters must be considered.
Figure below shows a full model of a long Transmission line:


Figure 4: Long Transmission Line Model
Now taking a part of this transmission line for Electrical analysis:


Figure 5: Long Transmission Line with distributed parameters
The Known parameters in this network are:




The aim of this analysis is to find V(x) and I(x) in terms of the known parameters.
1- KVL around the entire loop:
	
	
 
	(13)


Rearrange equation (13) gives:
	
	
 
	(14)


Now taking the limit as ∆x → 0 gives


	
	
 
	(15)


2- KCL at the first junction:
	
	
 
	(16)


Rearrange equation (16) gives:
	
	
 
	(17)


Now taking the limit as ∆x → 0 gives


	
	
 
	(18)


Finding V(x):
Differentiate equation (15) gives:
	
	
 
	(19)


Substitute equation (18) in equation (19) yields to:
	
	
 
	(20)


Assume that:
	
	
 
	(21)


Then rearranging equation (20) gives:
	
	
 
	(22)


Now, solving this differential equation give the following solution:
	
	
 
	(23)


Noting that the propagation constant (γ) can be expressed as:
	
	
 
	(24)


Finding I(x):
Rearranging equation (15) gives:
	
	
 
	(25)



Differentiate equation (23) gives:
	
	
 
	(26)


Substitute equation (26) in equation (25) yields to:
	
	
 
	(27)


Substituting the value of the propagation constant in equation (27) gives:
	
	
 
	(28)


Assume that ZC (the characteristic impedance) can be expressed as:
	
	
  Ω
	(29)


Then equation (28) can be rewritten as:
	
	
 
	(30)


Now we have two equations with two unknowns of A1 and A2, to find them we will use the boundary condition at x = 0:
From figure (5):
	
	

                                      
	(31)


Substituting x = 0 in equation (23) gives:
	
	
 
	(32)


Substituting x = 0 in equation (30) gives:
	
	
 
	(33)


Now solving equation (32) and (33) gives:
	
	
 
	(34)





Now, substitute the values of A1 and A2 in equation (23) and (30)
	
	
 
	(35)


Rearrange equation (35)
	
	
 
	(36)


Note:
	
	

                            
	(37)


So, equation (36) can be written as:
	
	
 
	(38)


Since we are particularly interested in the relation between the sending end and the receiving end, we will find V(x) and I(x) at x = l
Let


Then V(x) and I(x) are:


                                   
Substitute their values in equation set (38) gives the relations:
	
	
 
	(39)


Now we can express them in the ABCD Matrix form as:
	
	
 
	(40)



Note that as before A = D, and 
The Equivalent π Model for long transmission lines





Figure 6: The Equivalent π Model for long transmission lines
Using the ABCD Matrix for the π circuit model we can find the Equivalent matrix for this model
	
	
 
	(41)


Where
	
	
 
	(42)


These values can be obtained by equalizing the Transmission matrix from equation (40) and equation (41)
Note, we can find the cosh and the sinh for a complex number using:

	
Loss-Less Line
It is the ideal Line where it does not show any losses in the transmission process. Also, the signal attenuation will be zero since there is no losses.
To achieve such a Line the resistance must be zero: 


	                     
So, the series impedance and the shunt admittance are expressed as:


  Ω/m                     S/m
We are going to analyze lossless line from four points of view:

1- ABCD Parameters
2- Z’, Y’ Model
3- Wave length (λ)
4- Surge impedance loading (SIL)

The first step is to find the characteristic impedance (ZC) “noting that in the lossless line it is called the surge impedance” and the propagation constant (γ).
The surge impedance:
	
	
 
	(43)


From equation (42) we can see that the surge impedance is purely resistive
The propagation constant:
	
	
 
	(44)


From equation (43) we can see that the propagation constant is purely imaginary that means that it contains only the imaginary part (phase constant part) and the real one (attenuation constant part) is gone.
Analyzing the Lossless Line:
In order to analyze the Lossless transmission line, the ADCB matrix and the model for the π-circuit of the long transmission line will be used since it is the general case of all three models: 
1) ABCD Parameters for Lossless Line
Depending on matrix in equation (40) we got:


	
	
 
	(45)


	Note that the cosine hyperbolic function (cosh) is replaced by a normal cosine (cos) which simplify the analysis. 

	
	
	
 
	(46)


The sine hyperbolic function (sinh) is replaced by a sine value.


	
	
 
	(47)


2) π-Model for Lossless Line
Depending on equation (42) we got:


	
	

	(48.1)

	
	

	(48.2)




	
	
 
	(49)


Now we can derive the π-Equivalent Circuit of the long transmission line for the lossless line depending on equations (45, 46, 47):


	
	
 
	(50)


Wave length (Lossless Line): 
A wavelength is the distance required to change the phase of the voltage or current by 2π radians or 360°.
The velocity of propagation of voltage and current waves on lossless line can be expressed as:
	
	
 
	(51)


Then, the wavelength of the wave is obtained by:
	
	
 
	(52)


Or
	
	
 
	(53)


The expression for the inductance per unit length (L) and the capacitance per unit length (C) can be obtained using the following equations:
The per-phase inductance:
	
	
  H/m
	(54)


The per-phase capacitance:
	 
	
  F/m
	(55)


Neglecting the internal flux linkage of a conductor gives 


In this case, the wave length can be as
	
	

	(56)


 Noting that
	
	

    
	(57)


So, the velocity of propagation of the voltage and current waves can now be calculated:
	
	
 m/s
	(58)


Surge Impedance Loading: 

SIL is the power delivered by a lossless line to a load resistance equal to the surge impedance ZS. where, .
The equivalent circuit for studying the SIL is shown in the following figure:


Figure 7: TL with surge impedance loading Circuit
This line represents a single phase line or one phase to neutral of a balanced three-phase line.
From equation (50) we know that v(x) and I(x) can be expressed for a lossless line as:
	
	
 
	


From figure (7) we see that:
	
	
 
	(59)


Substitute equation (59) in equation (50) yields to
	
	
 
	(60)


Using Euler identity, we can rewrite equation (60) as:
	
	

     
	(61)


From equation (61) we can see that the magnitude of the voltage v(x) is equal to the magnitude of the voltage at the receiving end which means that the voltage is constant along the Transmission Line.
	
	
 
	(62)


From the power point of view, we know that the apparent power is calculates by:


Substituting equation set (61) in the apparent power equation yields to
	 
	

	(63)


From equation (63) we can see that the real power along the line is constant and the reactive power flow is zero.
At rated Line Voltage the SIL power can be expressed as:
	
	
 MW
	(64)


The following table is showing some examples of the SIL power at different tine voltages
	Vrated (kV)
	
 Ω
	SIL (MW)

	230
	380
	140

	345
	285
	420

	500
	250
	1000

	765
	257
	2280


Voltage profiles:
1- At no-load condition:
	
	

	(65)


Substituting equation (65) in V(x) from equation (50) gives:
	
	
 
	(66)


The no-load voltage increases from VS = cos(βl) VRNL at the sending end to VRNL at the receiving end (where x = 0).
2- At short circuit condition:
	
	

	(67)


Substituting equation (67) in V(x) from equation (50) gives:
	
	
 
	(69)


The voltage decreases from VS = sin(βl) (ZSVRSC) at the sending end to VRSC = 0 at the receiving end.
3- From equation (62) the voltage profile at SIL is flat
4- The full-load voltage profile, which depends on the specification of full-load current, lies above the short-circuit voltage profile.
Figure below summarizes these results, showing a high receiving-end voltage at no-load and a low receiving-end voltage at full load. This voltage regulation problem becomes more severe as the line length increases. 
[image: ]
Figure 8: Voltage profiles of a lossless line with fixed sending end voltage for line lengths up to a quarter wavelength

Steady state stability limit

The equivalent π circuit of Figure (6) can be used to obtain an equation for the real power delivered by a lossless line with a small change in the angles of the sending and receiving end voltages shown in Figure (9). Assume that the voltage magnitudes VS and VR at the ends of the line are held constant. Also, let δ denote the voltage-phase angle at the sending end with respect to the receiving end.







             Figure 9: The Equivalent π Model for long transmission lines
1- KCL at the receiving end junction:


      →   
	
	
 
	(70)


Now the complex power at the receiving end can be calculated by:




Using Euler identity
	
	
 
	(71)


The real power
	
	
 
	(72)


Since the Line is Lossless then the real power at the sending end is the same as that at the receiving end. Also, we can see that the phase (δ) at the sending end can maximize the real power in the power system when it is 90°, then the real power is equal to:
	
	
 W
	(73)


Where Pmax is the maximum power that can be transmitted over this Transmission Line.
Equation (72) is plotted in Figure (10). For fixed voltage magnitudes VS and VR, the phase angle δ increases from 0° to 90° as the real power delivered increases. 

    
Figure 10: Real power delivered by a lossless line versus voltage angle across the line
Synchronous machine can be connected to the power system supplying a power (P0). The Voltage angle of the machine is denoted by (δ0).
1- The machine will operate in stable region when the machines voltage angle is less than 90°. 
2- At 90° the steady-state stability limit occurs 
3- The machine will be unstable for a phase angle more than 90°.


Figure below illustrates these situations:


If an attempt were made to exceed the steady-state stability limit, then the machine would loss the synchronism. 
Note: Using a Bundle will reduce the GMR of the Line, therefore the Line inductance (L) will be
reduced, so the series impedance of the lossless line will be reduced and finally the transmitted power will increase.  
The maximum power in terms of SIL
Substituting equation (48.1) in equation (72) gives:
	 
	
 
	(74)


Rearranging equation (52) in terms of (β) and substitute it in (74) yields to:
	
	
 
	(75)


From equation (64) we know that:


Therefore, multiplying equation (75) by V2rated in the nominator and denominator gives:


Rearrange the equation obtained in order to get the SIL:


Rewrite each term in a new form gives:
	
	
 Watt 
	(76)


Now the max power can be expressed in terms of the SIL as:
	
	
 Watt 
	(77)


Equation (77) reveals that the power transfer capability decreases as the length of the transmission line increases. Figure (11) shows the SIL vs the T.L length curve:

[image: ]
Figure 11: Transmission-line load ability of SIL vs Transmission line length
The following table is showing some examples of the SIL powers and the thermal ratings of some lines at different tine voltages
	Vrated (kV)
	SIL (MW)
	Typical Thermal Rating (MW)

	230
	150
	400

	345
	400
	1200

	500
	900
	2600



Maximum Power Flow of Lossless Line
After discussing the maximum power flow in previous section, now it is discussed in terms of the ABCD parameters for a lossy line (Line with losses). 
From equation (40) we know that:


    
In this section we are using the following notation to express the A and B parameters:
	
	
 
	(78)


Also, we are using the same notation for the voltage at the sending end and the receiving end:
	
	

    
	(79)


From ABCD matrix in equation (40) solving for the receiving end current gives:


	
	
 
	(80)


The complex power delivered to the receiving end is:


	
	
 
	(81)


The real and reactive power delivered to the receiving end are:
	
	
 
	(82)

	
	

	(83)






Note that for a lossless line, , , ,. Applying these values to the real part of equation (82) gives:
	
	

	(84)


which is the same as the result obtained in equation (72).

The theoretical maximum real power delivered (or steady-state stability limit) occurs when in equation (82), this gives:
	
	

	(85)


The second term in equation (84), and the fact that Z’ is larger than X’, reduce PRmax to a value somewhat less than that given by equation (73) for a lossless line.
Transmission Line Steady State Operation (SSO)
When we talk about SSO on transmission line what we really mean is how the line performs when we want to transmit certain amount of power through it.


Figure 12: Two bus power system
Power Flow on Transmission Lines
As said before, the ABCD parameters matrix can express the transmission line as follows:
	
	

	(86)


From equation (86) we can express the current at the receiving end as:
	
	

	(87)


And the current at the sending is as:
	
	

	(88)


Again, we are using the following notation for the voltage at the sending and receiving ends:
	
	

    
	(89)


Also, assume that
	
	
 
	(90)


Now substitute equation set (90) in equation (87) and (88) gives:
	
	
 
	(91)


Now the complex power at the receiving and sending end can be calculated by:


At the receiving end:


	
	
 
	(92)


The real and reactive power can now be calculated
	 
	
 
	(93)



At the sending end:


	
	
 
	(94)


The real and reactive power can now be calculated
	[bookmark: _Hlk58194965] 
	
 
	(95)


Notes:
1) For a given voltage level Vs and VR are very near to the system voltage and they don’t change much (33 kV……).
2) 
of transmission line parameters are fixed.
The maximum power that can be transmitted or delivered is obtained when:


And it is expressed as:
	
	

	(96)


The minus in the reactive power formula indicates that its capacitive.
Power flow for short transmission Line (As an example of the above):
From the ABCD matrix of the short Line we know that:

	

	
Substituting the values of A and B in the receiving and sending ends equations gives:
	
	

	(97)

	
	

	(98)


It is known that 

	



Since , then and therefore the angle . Substituting these values in the receiving end power equations gives:
	 
	

	(99)


As δ is usually small; cos(δ) ≅ 1
	
	

	(100)


From these relationships we can conclude the following points:
1. For fixed values of VS, VR and X, the real power depends on the angle δ (the phase angle by which VS leads VR). This angle δ is called the power Angle. When δ = 90° the power is maximum. For system Stability considerations δ has to be kept below 90°.
2. Power can be transferred over line even when |VS| ≤ |VR|. The phase difference δ between VS and VR causes the flow of power in the line. Power systems are operated with almost the same voltage magnitudes (i.e., p.u) at important busses by using methods of voltage control. (because this provides a much better operating conditions for the system.)


The power angle δ can be positive or negative. Being positive means that VS leads VR (Power is flowing from VS to VR (VSVR). However, if the power angle is negative then VS lags VR (Power is flowing from VR to VS (VRVS).

3. The maximum Real power transferred over a line increases with increase in VS and VR. An increase of 100% in VS and VR (means that the voltages were doubled) will increases the power transfer to 400%. This is the reason for adopting high and extra high Transmission voltages.
4. The maximum real power depends on the Reactance X which is directly proportional to line    inductance. A decrease in inductance increases the line capacity. The line inductance can be decreased by using bundled conductors 
Another method for reducing the line inductance is by inserting capacitance in series with the line. This method is known as series compensation. The series capacitors are usually installed at the middle of the line.
	
5. The Reactive power transferred over a line is directly proportional to (VS – VR) i.e., voltage drop along the line, and it is independent of power angle. This means that the voltage drop on the line is due to the transfer of reactive power over the line. To maintain a good voltage profile, reactive power control is necessary. 
Voltage Control
Reactive Power compensation equipment has the Following effect:
1. Reduction in current. Since the voltage is constant at the nominal value

	  
2. Reduction of losses in the system. Since the current decreases.
3. Maintain the voltage profile within limits. 
4. Reduction in investment in the system per kw at load supplied.
5. Decrease in kVA loading of generators and lines. This decrease in kVA loading relieves overload condition or releases capacity for additional load growth. 
6. Improvement in power factor of generators 
Reactive compensation of a Transmission line 
· Static Var Compensation 
· Rotating Compensators (synchronous compensator) 
· Using Transformer (Tap Transformer) 
· Using Power Electronics (STAT COM)
Static Compensation 
The Performance of transmission lines, especially those of medium length and longer, can be improved by reactive compensation of series or parallel type.
1- series compensation consists of a capacitor bank placed in series with each phase conductor of the line. series compensation reduces the series impedances of the line, which is the principal cause of voltage drop and the most important factor in determining the maximum power which the line can transmit.
2- Shunt compensation refers to: 
a) The placement of inductors from each line to neutral to reduce partially or completely the shunt susceptance of a high-voltage line. Which is particularly important at light loads when the voltage at the receiving end may otherwise become very high (Shunt Reactors).
b) Shunt Capacitors are used for lagging Power factor circuits created by heavy loads. The effect is to supply the necessary reactive power to maintain the receiving end voltage at satisfactory level.
























Representing a transmission line by the two-port network, in terms of ABCD parameters, (a) express VS, the sending-end voltage, in terms of VR, the receiving-end voltage, and IR, the receiving-end current, and (b) express IS, the sending-end current, in terms of VR and IR. 
(a)     (b)  

5.2 As applied to linear, passive, bilateral two-port networks, the ABCD parameters satisfy 
AD - BC = 1.
(a) True      (b) False
5.3 Express the no-load receiving-end voltage VRNL in terms of the sending-end voltage, VS, and the ABCD parameters.
.

5.4The ABCD parameters, which are in general complex numbers, have the units of
Dimenesionless, ohms, siemens, diemensionless, respectively. Fill in the
Blanks.
5.5 The loadability of short transmission lines (less than 80 km, represented by including
only series resistance and reactance) is determined by Thermal limit; that of medium
lines (less than 250 km, represented by nominal circuit) is determined
by voltage-drop; and that of long lines (more than 250 km, represented by equivalent
circuit) is determined by steady-state stablilitiy limit  . Fill in the Blanks.
5.6 Can the voltage regulation, which is proportional to (VRNL_VRFL), be negative?
(a) Yes        (b) No

5.7 The propagation constant, which is a complex quantity in general, has the units of
1/m and the characteristic impedance has the units of ohms.

5.8 Express hyperbolic functions cosh and sinh  in terms of exponential function 


5.9 , where  can be expressed as  in which al is dimensionless and bl is
in radians (also dimensionless).
(a) True                 (b) False

5.10 The equivalent _ circuit is identical in structure to the nominal _ circuit.
(a) True                (b) False
5.11 The correction factors F1 ¼ sinhð_lÞ=_l and F2 ¼ tanh ð_l=2Þ=ð_l=2Þ, which are complex
numbers, have the units of Dimensionless constants. Fill in the Blank.

5.12 For a lossless line, the surge impedance is purely resistive and the propagation constant
is pure imaginary.
(a) True                   (b) False
5.13 For equivalent _ circuits of lossless lines, the A and D parameters are pure  Real
whereas B and C parameters are pure imaginary. Fill in the Blanks.

5.14 In equivalent _ circuits of lossless lines, Z0 is pure inductive, and Y0 is pure
capactive. Fill in the Blanks.

5.15 Typical power-line lengths are only a small fraction of the 60-Hz wavelength.
(a) True             (b) False

5.16 The velocity of propagation of voltage and current waves along a lossless overhead
line is the same as speed of light.
(a) True              (b) False
5.17 Surge Impedance Loading (SIL) is the power delivered by a lossless line to a load
resistance equal to Surge impedance. Fill in the Blank.
5.18 For a lossless line, at SIL, the voltage profile is Flat (constant), and the real power
delivered, in terms of rated line voltage V and surge impedance ZC, is given
by . Fill in the Blanks.

5.19 The maximum power that a lossless line can deliver, in terms of the voltage magnitudes
VS and VR (in volts) at the ends of the line held constant, and the series reactance
X0 of the corresponding equivalent _ circuit, is given by , in
Watts. Fill in the Blank.

5.20 The maximum power flow for a lossy line will be somewhat less than that for a lossless
line.
(a) True             (b) False

5.21 For short lines less than 80 km long, loadability is limited by the thermal rating of the
conductors or by terminal equipment ratings, not by voltage drop or stability considerations.
(a) True        (b) False
5.22 Increasing the transmission line voltage reduces the required number of lines for the
same power transfer.
(a) True            (b) False
5.23 Intermediate substations are often economical from the viewpoint of the number of
lines required for power transfer, if their costs do not outweigh the reduction in line
costs.
(a) True           (b) False

5.24 Shunt reactive compensation improves transmission-line voltage regulation, whereas series
capacitive compensation increases transmission-line loadability. Fill in the Blanks.

5.25 Static-var-compensators can absorb reactive power during light loads, and deliver reactive
power during heavy loads.
(a) True           (b) False
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31

32

33

34

35

36

Which of the following is not true for transmission lines?
(a) They transmit power from generating stations to grid stations.

(b) They transmit power to grid stations.

(c) They transmit three-phase power.

(d) Power can be tapped from transmission lines.
Which of the following parameters is of least importance?

(a) Series resistance (b) Series inductance

(¢) Shunt capacitance () Shunt conductance
Which of the following is not an advantage when copper is used as a
transmission line conductor?

(2) Low specific resistivity

(b) High tensile strength

(c) High voltage gradient due to smaller diameter

(d) Low wind loads due to smaller surface area

Which of the following is abbreviated as ACSR?

(a) Aluminium conductor steel reinforced

(b) Aluminium core strength reinforced

(¢) Aluminium centre steel reinforced

(d) Aluminium conductor steel recovered

Bundled conductors are not used for which of the following operating voltages?
(a) 132kV (b) 220kV

(©) 400kV () 765 and above

Which of the following is an advantage of using bundled conductors in
transmission lines?

(a) They reduce corona. (b) They reduce interference with com-

‘munication cireuits.
(¢) They reduce series reactance. (d) All of these.
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3.10

an

‘Which of the following results is true for skin effect in conductors?
() Higher the frequency more is the skin effect.
(b) Larger the diameter higher is the skin effect.
() Solid conductors have a higher skin effect than stranded conductors.
(d) All of these.
‘The intemal inductance of a conductor is represented by
@ 05x107 H/m (6) 05107 xr Him
(©) 0.5% 107 xTH/m (d) 0.5% 107 xIxrH/m
Which of the following is not the inductance of a single-phase, two-conduetor
circuit?

D

(@) 2x 107 In H/m ® 2x107In

e re”

7 Him

© 2107 = D Mm@ Allofihese

To determine the selfGMD of a 19-strand conductor, which of the following
will determine the root of the distances?

(@ 19t (b) 361th

() 400th () None of these
Which of the following gives the equivalent distance between conductors of
a three-phase circuit?

Transmission Line Parameters 109

@ Dy = YDpyDysDsg ®) Dy = DpyDysDyy

© Dy = DayDypDay () None of these
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a7

Each strand, ina 19-strand conductor, is of equal diameter and has an inductance
of L H/m. The total inductance of the stranded conductor is represented by
(@ 19L (b) L/19
(c) L1361 (d) None of these
‘Which of the following statements regarding bundled conductors is true?
(a) They increase both corona loss and reactance.
(b) They increase corona loss and decreases reactance.
(¢) They decrease corona loss and increases reactance.
(d) They decrease both corona loss and reactance.

AT km-long, single-phase line employs conductors of 1 cm radius. The line-
to-neutral capacitance is given by

(@) 2xxx107 F/im () 2x7?x107 Fim

(¢) 107°/36x Fim (d) 10°/72F/m

Which of the following is a reason to justify the assumption that the charge
on conductors is uniformly distributed?

(a) Transmission voltage is high.

(b) Conductors are stranded.

(©) The distance between conductors is large compared to conductor radii.
(d) All of these.

The condition g +gy +q; =0 is not applicable (o which of the following
circuits?

(a) Two-conductor single-phase ac circuit

(b) Three-phase ac circuit with symmetrical spacing

(¢) Three-phase ac circuit with unsymmetrical spacing

() All of these

‘When the effect of earth on the capacitance of a ransmission line is considered,
the capacitance

(a) remains unchanged (b) reduces

(c) increases (d) None of these
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3.18  The effect of earth on the capacitance of a line can be neglected when

(a) conductor diameter is small compared to its height above ground.

(b) bundled conductors are used.

(©) height of conductors above ground is large compared to the spacing
between conductors

(d) All of these.

Answers

30(d) 32(d) 33() 34() 35() 36 (d)
37(d) 38() 39()  30®) 3@  3M2()
343(d)  314(d)  315()  3M6(a)  317(c)  318()
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Fig-A: Short transmission line model
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43

44
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47

Which of the following is not true for transmission lines?
(a) Three-phase system is used for transmission of power.
(b) Single-phase representation is sufficient for analysis.
(c) Bulk power s transmitted.

(d) None of these.
Which of the following represents the efficiency of a line?

@ Fe/Ps ©) P[Py

(© (Be=F)/Fs @ (F=F)/F
Voltage regulation of a transmission can be

(a) positive (b) negative

(¢) both positive and negative  (d) None of these
The stipulated voltage regulation of a transmission line is

(a) £2.5% (b) +5%
(© 47.5% () £10%

Tn which of the following cases will the voltage regulation of a line be zero?
(a) Unity power factor (b) Lagging power factor
(¢) Leading power factor (d) All of these

For a loss-free line which of the following represents the characteristic
impedance of a long transmission line?

@ NI ® JIc
© LC @ JIe

AT10-KY, three-phase transmission line has a per unit capacitance 0f 0.015 uF'
and an inductance of 3.0 mH. Which of the following is the magnitude of the
characteristic impedance of the lin?

() 3500 (b) 400 Q

(c) 4350 Q (d) 500 Q
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48

49

4.10

an

412

4.14

is

Along transmission is on no-load. Which of the following is true?
@ Vs>Vy () Vs=Vp

(© Vs<Vy (@) None of these

Two transmission lines having parameters Ay, 8, Cy, Dy and 4y, By, Cs, Dy
are connected in parallel. Which of the following correctly represents the
parameter A of the combination?

(48 48) (4 48)

T ® )
(B,+8) (B,+8)

) B o

© Taby+48) @ Top 45

Which of the following represents B parameter for a long line?

(a) cosh(yl) (b) Zcsinh (y1)

(c) sinh (y7)/ Z¢ (d) None of these

‘Which of the following is true?

(a) AC-DB (b) AD-BC

(c) AB -~ D¢ (d) All of these

For which of the following conditions is Vy > V5?
@ Z=152¢ ) Z=1252;
© X=2, d) 2=0252,
‘The parameter C of a transmission line is zero. Which of the following lines
is represented?

(@) m-equivalent (b) Long
(©) Medium (@ Short

What is the effect of Vs < V' in a long transmission line called?
() Induction effect (b) Transformer effect

(c) Ferranti effect (d) None of these
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4.16

417

4.18

4.19

‘Which of the following is not the radius of a power circle?

o e

(@ Allof these

Which of the following determines the power transmission capability of aline?
(@) Conductor temperature rise  (b) Transmission voliage
(©) Steady-state stability limit (&) All o these
Which of the following is a reason to resort to shunt compensation in an extra
high voltage line?
() Improve stability (b) Restrict fault currents
(<) Improve voltage profile (d) None of these
‘Which of the following is a reason to resort to series compensation in an extra
high voltage line?

(a) Tmprove stability (b) Restrict fault currents

(c) Improve voltage profile () None of these
‘Which of the following is applicable to complex power transmission in medium/
Tong lines?

(@) There s a vertical shift in positions of centres of sending and receiving
end power circles.

Transmission Line Model and Performance 179

(b) Real power transmitted remains unchanged.
(¢) Power consumed in shunt capacitance s relatively low.
(d) All of these.
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Which of the following is related to the speed of transients set up in transmission
lines?

(@) Slow (b) Medium

(©) Fast (@) Ultra-fast
Which of the following is used for protecting transmission lines against direct
strokes of lightning?

(a) Ground wires (b) Surge arrestors

(¢) Circuit breakers (@ All of these
Which of the following represents the reflection coefficient z4(s) of  travelling
wave?

2 228+ Zc Zy(8)-2¢
@ )z R AGIA
(© Ze®Z(S)+Z @ Za)Z5)-2¢

Zx(8)Z5(8)-Zc Zp(8)Z5(S)+2Zc
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